Physics and Astronomy Department
College of Sciences-King Saud University
Phys 104, Midterm Exam #1, First Semester 28/11/1430 H
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Q1- If a group of electrons has a charge of -6.4 nC, how many electrons are in this
group? , : : . :

A)dx10" B)2 x 10" Cig% 10" D) 16 x 103
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Q2- The electric force acting on g5 is:

q,=9,=4;

A) 0.3 B) 0.9 C)2.6 D)1.8
ieh p Akl vie (9) Sl Jodl Alan )5 T
Q3- The angle (0) of the resultant electric field is:

A:5P B) 85° C) 30° D) 60°
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Q4- In the figure, the ratio of the electric flux through the surface of the cube to that
through the sphere (Pcube /Dsphere) is:

A) 1 B) 2 o D) -2
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ar a very long thin charged rod is 27 N/C. Given

d is 3 nC/m, then the point P is at the distance:

27 NIC =)= 3 nC/m o o B

¢ field at a point p €

Q5- If the electri
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that the charge P
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e electric potential at the center of the circle equals:
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Q7-1f a charge g —
E = 1000 V/m, then

30 mC moves with acceleration @ =

the mass of the charge is:

A)0.45 B) 0.6 - )915 D)0.3
T e g il A g (0o ) TS Y A
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Q8- The total potenti‘al energy (re‘é.otion energy) of charges

Q9- The charge of the equivalent capacitance between a and b is:
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m°, has a capacitance

r, having @ plate area of 20 ¢
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Q10-A parallel plate cap
petween its pl

C =304 The distance
D) 13.3x 10 %

B) 17.7% 10”7 C)4.4x107"
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